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The nth term of an arithmetric sequence is given by:
t =t +(n-1)d

Ex 1) Find the formula for the nth term of the sequence:
5.8 11,14, ...

t =t +(n-1)d
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16th term is 47. Find the 25th term of the sequence.
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Strategy: Since the above information cannot be used in one equation to solve
the problem, we will need to set up 2 equations with 2 variables to find the
formula for the general term of the sequence. Once we have the formula for
the general term. we can then find the 25th term.

T, H (- 0d
47= €l+(|6 |)C'

Simplify each equation:
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have previously learned (graphing, substitution, linear combination).
Let's usc lincar combination, which we also called the elimination method.
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Next, let's find the first term by substituting 3 in for d:

L +2(3) =%
L AC=F
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The general formula for the sequence is:

Lp= 2+ (n=1)3
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A simple arithmetic mean between 2 numbers is the
average of the two numbers (a+b) /2.

Ex 5a) Find the arithmetic mean between 7 and 19.
1+14 26 @
= =

Ex 5b) Insert three arithmetic means between 8 and 16.
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The nth term of an arithmetric sequence is given by:
t =t +(n-1)d
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Strategy: Since the above information cannot be used in one equation to solve
the problem, we will need to set up 2 equations with 2 variables to find the
formula for the general term of the sequence. Once we have the formula for
the general term. we can then find the 25th term.

T, H (- 0d
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Simplify each equation:
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Next, let's find the first term by substituting 3 in for d:
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The general formula for the sequence is:

Lp= 2+ (n=1)3
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A simple arithmetic mean between 2 numbers is the
average of the two numbers (a+b) /2.

Ex 5a) Find the arithmetic mean between 7 and 19.
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Ex 5b) Insert three arithmetic means between 8 and 16.
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